ClearA |l [Al, A2, x1, x2]

Gl = {{-Cos[a], -Sin[al}, {-1, 0}}
{{-Cos[a], -Sin[a]}, {-1, 0}}

G = Transpose[GTI]

{{-Cos[a], -1}, {-Sin[a], 0}}

q = {0, P}
{0, P}
s = -lnverse[C].q

{PCscla], -PCot [a]}

L2 =L

L

L1 =L /Cos[a]

L Sec [a]

F={{L1/Ym/AL 0}, {0, L2/Ym/A2}}
L Sec [a]

((F22 o] fo, 1)

V = -lnverse[GI].F.s

{ LPCot [a] LPCot[a]? LPCSC[a]ZSec[ot]}
A2 Ym A2Ym Al Ym
Feladat AArendez@e:

A2=P/Xl/O'H
Al =P/x2/oH

=)
x1 oH
P
x2 oH
cf = Al /Cos[a] + A2
P P Sec [a]

N
X1 oH X2 oH

V[[1]] Ym/L / oH
V[[2]1]Ym/L/oH// Simplify

-x1 Cot [a]

x1 Cot [a]? +x2 Csc [a]? Sec [a]



